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1 gt ralelin el 1,500,000 1,500,000
2 Lt =g i 1,000,000 1,000,000
3 PAdl st Z2|8|cistn 1,200,000 1,200,000
4 T la=qE i) 1,000,000 1,000,000
5 8 chefhstn 1,286,920 1,286,920
6 Zxe A& 1,000,000 1,000,000
7 +y HMasstn 658,500 658,500 1,317,000
8 g Fotoetu 1,154,000 1,154,000
9 Fahg=] Mgdsttigtn 1,500,000 1,500,000
10 A ety 324,000 324,000
11 4 ralelin el 1,090,000 790,000 1,880,000
12 43 e 1,500,000 1,500,000 3,000,000
13 Faht] Hatsty|stigtn 1,200,000 1,200,000 2,400,000
14 4=al ohatietu 1,500,000 1,500,000 3,000,000
15 Azt Eaubu Loigm] 1,500,000 1,500,000 3,000,000
16 43 ety 384,000 1,000,000 1,384,000
17 = dgnistn 1,200,000 1,200,000 2,400,000
18 40| [aESE g} 1,500,000 1,500,000 3,000,000
19 e ‘dAlofxioet 1,500,000 1,500,000 3,000,000
20 L3 s g4istn 1,200,000 1,200,000 2,400,000
21 Ll ER-gmE-u Loigm] 1,194,500 1,194,500
22 Hg SHATHE W (M 2) 1,500,000 1,500,000
23 ELAE Che 2 zdchstn 1,200,000 1,200,000 2,400,000
24 A4 HEogu 1,500,000 1,500,000 3,000,000
25 Adl Falelin el 1,500,000 1,500,000
26 =+ OtzFCigtu 1,500,000 1,500,000 3,000,000
27 o MErhetn 1,000,000 1,000,000 2,000,000
28 2+al S ssn 840,900 840,900 1,681,800
29 o peli=u kol gm] 1,200,000 1,200,000
30 fre o0&t 1,500,000 1,500,000 3,000,000
31 [E grhstn 1,500,000 1,500,000
32 ' JtEE|e 1,500,000 1,500,000
33 & Qlstoystm 1,500,000 1,500,000 3,000,000
34 e SFetu 1,000,000 1,000,000 2,000,000
35 o+l CHEchstm 1,500,000 1,500,000
36 o|*A e el 1,000,000 1,000,000 2,000,000
37 o+d Alstofstm 1,500,000 1,500,000 3,000,000
38 Of*of fie|=oitistn 136,000 1,500,000 1,636,000
39 Qe dgistune) 1,500,000 1,500,000
40 (SAES SEAf-l g gulul ol 1,200,000 1,200,000
41 ESs] LEASICHE R 1,500,000 1,500,000
42 [+ S (M) 1,500,000 1,500,000
43 L) Rl RS i) 900,000 800,000 1,700,000
44 s e Seetu 1,000,000 1,000,000 2,000,000
45 S| s|™chEtn 1,200,000 1,200,000 2,400,000
46 g Ry R ol 1,000,000 1,000,000 2,000,000

39,368,820 47,789,400 87,158,220




